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2 , −2
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40
18×1.15

=
40
20.7

= 1.93
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𝑆𝑇
⇒ 𝑠𝑖𝑛70 > 𝑠𝑖𝑛58 ⟹ 𝑆𝑇 > 𝑅𝑆
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𝑅! < (30 − 15)

𝑅" < (30 − 15)

𝑅# < (30 − 15)
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0 < 𝑥 < 𝑦 < 1 ⟹
𝑦
𝑥 > 1 ⟹

𝐴
𝐵 > 1 ⟹ 𝐴 > 𝐵
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𝐴 =
1
2× 4 − −2 ×ℎ = 24 ⟹ ℎ = 8



7) D SET 3 Difficulty: mediumCorrect rate: 85%

Powerprep Plus 2 Shayesteh.ir 8

It can be determined that y < 0, but whether x is less than 0 is uncertain, resulFng in uncertain whether 𝑥𝑦& is
greater than 0, choose D
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𝑃𝑜𝑠𝑠𝑖𝑏𝑙𝑒 𝑂𝑢𝑡𝑐𝑜𝑚𝑒𝑠 𝑜𝑓 𝐷𝑎𝑦𝑠 : 5, 10, 15, 20, 25, 30 6 𝑤𝑎𝑦𝑠 ;
𝑃𝑜𝑠𝑠𝑖𝑏𝑙𝑒 𝑜𝑢𝑡𝑐𝑜𝑚𝑒𝑠 𝑜𝑓 𝑀𝑜𝑛𝑡ℎ𝑠 : 5, 10 2 𝑤𝑎𝑦𝑠 ;
𝑃𝑜𝑠𝑠𝑖𝑏𝑙𝑒 𝑜𝑢𝑡𝑐𝑜𝑚𝑒𝑠 𝑜𝑓 𝑌𝑒𝑎𝑟 : 2010 1𝑊𝑎𝑦
𝐹𝑢𝑛𝑑𝑎𝑚𝑒𝑛𝑡𝑎𝑙 𝐶𝑜𝑢𝑛𝑡𝑖𝑛𝑔 𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙: 6 ∗ 2 ∗ 1 = 12
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𝐴𝑣𝑒𝑟𝑎𝑔𝑒2 =
18 + 27 + 30

3
= 25

𝐴𝑣𝑒𝑟𝑎𝑔𝑒1 = 25 + 2 = 27 =
(𝑥 − 1) + 𝑥 + (𝑥 + 1)

3 ⟹ 𝑥 = 27 ⟹ 𝑥 + 1 = 28
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Let red: 1, blue: 2, green: 1
number of red marbles in the bag divided by the total number of marbles =1/4
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𝑟' = 6

𝑟'& = 12

𝐴'
𝐴&

=
𝑟'&

𝑟&&
=
1
4
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𝐸𝑞 (𝑦 − 4) =
1
2 (𝑥 − 0)

𝑃𝑢𝑡𝑡𝑖𝑛𝑔 𝑦 = 0, 𝑓𝑜𝑟 𝑥 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡, 𝑤𝑒 𝑔𝑒𝑡 𝑥 = −8
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𝑛
4 +

𝑛
2 =

3𝑛
4 𝑖𝑛 60 𝑚𝑖𝑛

3𝑛
4 ×40 𝑚𝑖𝑛 ÷ 60 𝑚𝑖𝑛 =

𝑛
2
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(18.7% − 9%)×2,000 = 194
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16% + 9% = 25% =
1
4
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16%×2,000 = 320
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100
7 = 14

100
6×7 = 2

𝑡𝑜𝑡𝑎𝑙 14 − 2 = 12
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1
2 < 𝑥 <

3
4

2
7 < 𝑦 <

4
7

1
7
< 𝑥𝑦 <

3
7
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𝑔 1 = 𝑟 − 𝑠 + 𝑡 = 0



Thanks
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